A&aH FR17FE5ADEEAO

A0 110,162 A (+138)
5 53,026 A (+84)
Z 57,136 A (+54)
K 41,0755 (+109)

x () AIEETALE
XERk17F5A 18T

ETRIACAZER 1745818
BEAOQG, FREXRSERAD (ERERGIKRICSFRSNLZAO) &E —BHUEEA.

HT 4 R | R | R B4 18R gk 18R a5t
[R\E=H] -2 210 -3 203 0 269 -3 472
E.H] 0 106 0 106 0 138 0 244
B H] 0 71 1 76 -1 97 0 173
KEH] 1 27 0 15 0 29 0 44
N 0 8 0 8 0 12 0 20
=] 0 24 0 21 0 28 0 49
SRea ] 0 19 0 17 0 45 0 62
E1TRE—TH 1 186 1 215 1 176 2 391
E1TRE”-TH -1 151 -3 156 0 176 -3 332
E1TRE=TH 0 1 0 1 0 0 0 1
E1TREUTH 0 0 0 0 0 0 0 0
E1TREATH 0 73 -1 102 -1 130 -2 232
T/EE—TH 1 195 0 219 2 258 2 477
TEAZTH 1 363 1 330 -2 406 -1 736
TEA=TH 1 150 2 169 1 182 3 351
ERE—TH 2 227 0 250 5 310 5 560
WERET T H -2 351 -4 380 -4 386 -8 766
WERET=TH 15 248 19 264 1 251 20 515
EMAFRET—T B 0 154 2 171 1 203 3 374
EMAFRET — T B 1 277 -1 288 3 342 2 630
LB —TH 0 100 1 98 0 118 1 216
LA =T H 1 198 1 216 -1 237 0 453
WRAEAR X ST 19( 3,139 16 3,305 5/ 3,793 21 7,098
== -1 35 0 41 -1 50 -1 91
piadiil] -4 123 1 121 -1 138 0 259
ZAH] 1 74 0 62 2 82 2 144
1GHaH] -1 33 1 15 1 35 2 50
—&T 0 1 0 1 0 0 0 1




NET 0 43 -1 46 0 46 -1 92
t&T 0 61 -1 83 -1 82 -2 165
NET 0 41 0 45 0 53 0 98
NET ) 107 -1 116 -3 170 -4 286
+&T 1 114 0 98 1 133 1 231
aEaLi] ) 218 -2 194 ) 248 -4 442
7R —T B ) 79 -1 79 -3 84 -4 163
i = 0 115 0 121 1 173 1 294
HFFE—T B 1 176 -1 216 2 248 1 464
hEFET =T B 1 137 3 152 4 174 7 326
PRI =T H -3 197 -5 207 -3 231 -8 438
FFFETEE T B -2 160 -1 185 -3 222 -4 407
HFFEIR T B 2 240 3 267 -2 356 1 623
AFH—TH 1 70 3 64 4 89 7 153
AFEH_—TH 0 4 0 2 0 3 0 5
AFH=TH 8 94 1 70 7 95 8 165
IR X st 2 2,122 -1{ 2,185 3[ 2,712 2| 4,897
FE (LI ] 2 283 3 255 -1 274 2 529
SERH] 0 17 0 18 0 22 0 40
e HT 2 76 3 88 1 132 4 220
BB 2 299 7 307 0 264 7 571
] 0 29 0 41 0 26 0 67
EEXi] 3 80 1 66 1 88 2 154
AR —TH -1 164 0 190 0 194 0 384
AR —TH 0 223 3 242 -1 241 2 483
=H—TH 1 55 1 61 3 63 4 124
E=M_—TH ) 152 -1 137 -1 211 -2 348
IR X st 7] 1,378 17| 1,405 2| 1,515 19] 2,920
SIEH] 6| 1,159 2 1,344 -4| 1,433 6| 2,777
SBARE] 18] 1,281 11] 1,569 28] 1,765 39| 3,334
Ev=Lil 1 425 1 640 0 709 1 1,349
32 ] 7 696 0 903 3 931 3| 1,834
] ) 234 -1 252 -3 302 -4 554
RFE] 2 128 2 129 0 11 2 140
SESH] -2 44 -2 23 -3 25 -5 48
R —T B 2 73 2 123 0 125 2 248
FEE—TH 3 237 3 238 -1 186 2 424
BIEEE—TH 2 226 2 232 4 276 6 508
RIEEE—TH -1 132 0 144 0 189 0 333
IERE—T B 1 85 0 9 1 99 1 195




IR —TH 1 323 -1 328 -4 411 -5 739
IERE=TH 1 256 -2 297 -1 293 -3 590
IEEREUT E -5 101 -4 126 -5 146 -9 272
IERETRT B ) 333 -5 331 -6 397 11 728
KB —TH 2 124 1 157 2 181 3 338
XEH—TH 0 93 0 102 0 121 0 223
IR X g5t 34| 5,950 5| 7,034 11| 7,600 16| 14,634
FRATE] -5] 1,450 o] 1,771 -1 1,780 10[ 3,551
LLIALE] 6 881 4] 1,035 5| 1,137 ol 2,172
YEIRE] 2 385 -2 879 1 866 -1 1,745
JE ] -6 317 -4 385 -4 425 -8 810
R 1 215 1 180 0 197 1 377
IR X g st -2[ 3,248 -10[ 4,250 1| 4,405 9| 8,655
TEmE—TH 2 193 0 259 1 296 1 555
tEmAE_—TH 2 108 3 154 2 151 5 305
TEREIE=TH 0 58 -1 70 2 74 1 144
TERETFEIN T B 1 166 1 184 0 193 1 377
TEREIEAT B -4 259 -3 328 -2 360 -5 688
TERETFEAT B -5 160 -8 196 -2 200 10 396
TEREEET B 2 192 -2 208 0 234 -2 442
TEEFEN\T B 5 258 8 333 4 334 12 667
TEHE—TH 2 612 2 661 -1 713 1 1,374
THIE_TH -1 149 0 187 -1 199 -1 386
THIE=TH -5 340 1 355 -6 451 -5 806
TEEEMNT B 6 365 7 505 4 480 11 985
THIEATH -6 668 -4 730 2 487 2 1,217
TEEEATH 0 303 1 295 -1 303 0 598
THIEETH -1 556 -5 703 1 745 4| 1,448
TEEEN\TH 1 557 -1 645 4 737 3 1,382
TRIEATH 0 113 1 303 0 266 1 569
Tt —TH -1 31 -1 23 -1 20 -2 43
TEEIE=TH 0 7 0 6 0 2 0 8
tEE 0 0 0 0 0 0 0 0
IR X g st 2| 5,095 1] 6,145 6| 6,245 5| 12,390
AREFHTEE — -4 734 -8 1,140 -5 1,239 13 2,379
AREFEIER 5> 1 569 1 845 4 909 5| 1,754
EREFH] 785> 164 3 254 2 243 5 497
AREFRI X S5t 2] 1,467 4] 2,239 1| 2,391 -3 4,630
ESELA 12 1,723 15 2,416 11] 2,455 26| 4,871
L] 6 804 8| 1,022 -1 1,105 7| 2,127




IRRX EEET 18| 2,527 23| 3,438 10| 3,560 33| 6,998
ABZRH] 14| 3,162 22| 4,366 16| 4,705 38| 9,071
=H] 5[ 1,286 5( 1,723 -4 1,834 1 3,557
PRI X EEET 19| 4,448 27| 6,089 12| 6,539 39| 12,628
& 7KH] 1 1,778 3| 2,606 -11 2,796 2| 5,402
KR EEST 1 1,778 3| 2,606 -11 2,796 2| 5,402
N5t 90| 31,152 75| 38,696 50( 41,556 125| 80,252
A EH] -1 325 1 263 -3 359 -2 622
45 0 10 0 8 0 9 0 17
AERXEET -1 335 1 271 -3 368 -2 639
[ SH] 0 220 0 168 2 209 2 377
[LERNFS -3 21 0 28 -3 25 -3 53
FSH] -1 38 -1 28 0 29 -1 57
[LERXEET -4 279 -1 224 -1 263 -2 487
N 5t -5 614 0 495 -4 631 -4 1,126
TSN HE] 14| 3,584 -1 5,418 2| 6,005 1] 11,423
N5t 14| 3,584 -1} 5,418 2| 6,005 11,423
ERLLIET 10| 5,725 10| 8,417 6| 8,944 16| 17,361
N5t 10| 5,725 10| 8,417 6| 8,944 16| 17,361
a5t 109| 41,075 84| 53,026 54| 57,136 138/110,162
SEESACOR Fr17F5H18R7E

BEAOR FREFRGEAD (EREASIRCERSNIZAO) & —HUEEA.

i1 | | | R Sk 18R =4 18R &it

AEHTE 0 98 1 66 0 112 1 178
AEHTA 2 79 1 67 1 77 2 144
AEHTERA 0 10 0 4 0 9 0 13
AR EH]/)\BR -3 67 -1 70 -4 81 -5 151
RSB AR 0 13 0 10 0 12 0 22
AEH1EH 0 40 0 35 0 50 0 85
AEH IR 0 9 0 8 0 8 0 16
AEHTE R 0 9 0 3 0 10 0 13
45 0 10 0 8 0 9 0 17
AERXEET -1 335 1 271 -3 368 -2 639
IN=TIRvES) 0 23 1 21 1 23 2 44
IN= PR 0 38 0 21 0 34 0 55
IN= L B0 0 28 0 19 0 27 0 46
[ SHTER S 0 33 0 25 0 29 0 54
INSTIEEN 0 52 -1 40 1 51 0 91




[LERTHH 0 18 0 18 0 22 0 40
NS 0 28 0 24 0 23 0 47
[LERNFS -3 21 0 28 -3 25 -3 53
FSH] -1 38 -1 28 0 29 -1 57
[LERXEET -4 279 -1 224 -1 263 -2 487
a5t -5 614 0 495 -4 631 -4 1,126




